
Oblique incidence off a non-rigid wall

As discussed in class, the rigid wall obeys the 4th order inhomogeneous partial
differential equation
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We guess that the solution is of the form
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Substituting equation (2) into equation (1) and noting that jωξ = uw =
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Dividing by pi on both sides,
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The other boundary condition gave the relation
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Adding equations (3) and (5),
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Dividing equation (6) by 2,
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Solving equation (7) for T ,
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Let us focus on the last term in denominator of equation (8):
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This can be written more suggestively as
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Noting that c4b = Bω2

m (as defined at the end of class on Wednesday), the above
becomes
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Substituting the above into equation (8),
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In class I had incorrectly written
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Similarly, when writing in terms of the critical frequency, I had written
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